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1. The term for the form of development where nature is preserved for future generations:  
 A)  Social Development   B)  Economic Development  
 C)  Sustainable Development  D)  Ecological Development 
 
2.   Who among the following called Sociology as Social physics in the beginning? 
 A)  Herbert Spencer   B)  August Comte  
 C) Karl Marx   D)  Saint Simon 
 
3.  The champaran movement was organised by: 
 A)  M K Gandhi      B)  Phule  
 C)   B R Ambedkar   D)  E V Ramaswamy Naikker 
 
4.  ------is the physiological maximum potential reproductive output of an individual 
 (usually female) over its lifetime.  
 A)  Fecundity  B)  Fertility C)   Birth Rate D)  Morbidity   
 
5.  As per the prevention of Domestic Violence Act, 2005, violence is defined to include  : 
  
 1. Physical   2. Verbal and emotional  
 3.  Sexual    4.  Economic 
 
 A)  3 only    B)  1  and 3 only 
 C)  1, 2 and 3 only   D)  1, 2, 3 and 4 
 
6.  “Hegemony” means:  
 A)  a tendency of working class to realise their own interest  
 B)  a form of dual consciousness   
 C)  a mode of payment 
 D)  a dominant ideology that legitimates economic political and cultural power  
 
7.  “Eyeballing” in research means: 
 A)   reading a text document quickly  
 B)  gathering a sample from the public place  
 C)  scanning a table to identify general patterns and significant figures  
 D)  keeping an eye on your respondents all the time 
 
8.    Match list I with List II  
  List I         List II  
 a.   Reference group    1.  T Parsons  
 b.   Cultural lag    2.  Edwin Sutherland  
 c.   White collar Crime   3.  William Ogburn  
 d    Pattern Variable    4.  Herbert Hyman  
 
 A)  a-4, b-3, c-2, d-1  B) a-1, b-2, c-3, d-4 
 C) a-1, b-3, c-2, d-4  D) a-2, b-3, c-4, d-1 
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9.  The policy advocated by Verrier Elvin for tribal welfare in India: 
 A)   Reservation in Jobs 
 B)  Land Reforms  
 C)   Complete integration in to national life 
 D)  No state intervention in tribal way of life 
 
10. To reduce the emission of gases that contribute to global warming is the major aim of 
 ------ summit/ Protocol:  
 A)  Rio   B)  Kyoto  C)  Stockholm   D)  Vienna 
 
11.  According to Karl Marx surplus value is produced in which mode of production? 
 A)  Ancient-slavery   B)  Feudal  
 C)  Capitalist    D)  Socialist  
 
12. ------ is a theory that states that knowledge comes only or primarily from sensory 
 experience. 
 A) Empiricism   B)  Positivism  
 C) Functionalism   D)  Rationalism  
 
13.  Who among the following is associated with subaltern perspective of Indian Sociology? 
 A)  G S Ghurye    B)  M N Srinivas  
 C)  Ranajit Guha   D)  S C Dube 
 
14. ------ is a complement of social relationships in which persons are involved because  
 they occupy a particular social status 
 A)  Multiple roles    B)  Status set  
 C)  Role    D )  Role set  
 
15.  “Power is everywhere not because it embraces everything but because it  comes from 
 every where”   Who said this ? 
 A)   Karl Marx    B)  Max weber   
 C)  Michael Foucault  D)  Andre Beteille 
 
16.  Sociological perspective is primarily related an attempt: 
 A) to adjust the social order    
 B)  to change the social order  
 C)  to understand the social order  
 D)  to reform the social order 
 
17.  ------- is not an associative social process 
 A) Contravention  B) Accommodation   
 C)  Cooperation  D)   Acculturation   
 
18. “Assimilation is a process where by individuals or groups once dissimilar becomes, 
 that is, become identified in their interest and outlook “  who said this? 
 A) Park and Burgess   B) Ogburn and Nimkoff  
 C) A W Green   D) Mac Iver and page 
 
19.  The year of the introduction of Sociology in India at the institutional level: 
 A)  1859  B)  1919  C)  1951  D)  1959 
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20.   Assertion A: In capitalistic system of production, class conflict is inevitable which is 
   much bitter than economic competition and bargaining  
 Reason R : Class conflict is the only source of institutional change  
 
 A)  Both A and R are individually true and R is the correct explanation of A 
 B)  Both  A and R are individually true and R is not the correct explanation of A 
 C)  A  is true but R is false 
 D) A  is false but R is true  
 
21.  Who among the following gave a linear explanation for the evolution of human societies?  
 A)  Sorokin   B)  Spencer C)  Weber  D)  Pareto 
 
22. Match list I with List II  
      List I             List II  
 a.   Caste Old and New     1. Andre Beteille  
 b.   Caste Class and Occupation    2. M N Srinivas 
 c.   The social structure of a Tanjore Village   3. Kathleen Gough  
 d    Social structure of Mysore Village    4. G S Ghurye  
 
 A)  a-4, b-3, c-2, d-1  B) a-1, b-4, c-3, d-2 
 C) a-1, b-3, c-2, d-4  D) a-2, b-3, c-4, d-1 
 
23.    Assertion A : According to Durkheim , Suicide rate is higher in highly industrialised 
   societies  
 Reason R : There is abnormal type of division of labour and anomie in such societies  
 
 A)  Both A and R are true and R is the correct explanation of A 
 B)  Both  A and R are true but R is not the correct explanation of A 
 C)  A  is true but R is false 
 D) A  is false but R is true  
 
24. Which of the following is not a feature of Globalization?  
 A)   Increased awareness of the world 
 B) Extended power of nation state  
 C)  Reduction of distance through communication 
 D)  Stretching of social relations beyond national boundaries 
 
25.  Environmentalist social movements are global in the sense that:  
 A)  They increase our awareness of risks that affect the whole planet  
 B)  They appeal to universal values and human rights 
 C) They use global media to generate publicity 
 D) All of the above 
 
26.  The term 'culture industry', used by members of the Frankfurt School, referred to: 
 A)  The development of subcultures and counter-cultures in society 
 B) The way in which industrialization had created new means of   
  communication 
 C)  The way in which cultural products were bought and sold for profit 
 D)  The globalization of culture through new technologies 
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27.  Mass-society theory suggests that: 
 A)  The content of the media is determined by market forces 
 B) The subordinate classes are dominated by the ideology of the ruling class 
 C)  The media manipulate 'the masses' as vulnerable, passive consumers 
 D)  Audiences make selective interpretations of media messages 
 
28.  The term feminization of poverty refers to: 
 A)  The critical deconstruction of 'poverty' by feminist theorists 
 B)  Women's increased chances of being in poverty, due to low pay and greater 
  welfare dependency 
 C)  The way in which managing a budget and avoiding poverty tends to be a  
  woman's responsibility within the home 
 D) The disproportionate number of female sociologists who do research on  
  poverty 
 
29. The affluent working class adopting middle class values and ways of life is called:  
 A)   Proletariat    B)  Embourgeoisement  
 C) Industrialization   D)  Pauperization 
 
30. ------ is a preference for the products , styles or ideas of a different culture 
 A)  Ethnocentrism   B)  Competition  
 C)  Contra Culture   D)  Xenocentrism 
 
31.  Author of the book “History of Human Marriage”: 
 A) Westermarck    B)  Radcliff Brown  
 C)  Malinowski   D)  Lowie 
 
32.  Find the incorrect match: 
 A)  Tonnies  - Gemeinschaft and Gesselchft  
 B)  Durkheim  - Organic solidarity  and mechanical solidarity 
 C)  Redfield   - Animal society and human society  
 D)  Auguste Comte - Statics and Dynamics 
 
33.  Which of the following is not the characteristic of social Institution? 
 A)  Means of controlling individuals   
 B)  A set of rules and regulations  
 C)  A system of procedure    
 D)  Concrete in nature  
  
34.  Match list I with List II  
  List I     List II  
 a.    Enculturation    1. Oscar Lewis   
 b.    Cultural construct   2. Milton Singer 
 c.    Contra-culture    3. Ralph Linton  
 d     Culture of Poverty   4. Herskovitz  
 
 A)  a-4, b-3, c-2, d-1 B) a-1, b-2, c-3, d-4 
 C) a-1, b-3, c-2, d-4 D) a-2, b-3, c-4, d-1 
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35.  ---------- “denotes the situation in which the social norms regulating individual 
 conduct have broken down or are no longer effective as rules for behaviour”. 
 A)  Alienation  B)  Altruism C)  Anomie D)  Acculturation 
 
36.  Fraternal polyandry is found among----- in India. 
 A)  Nagas   B)  Gonds   C)  Todas  D)  Baigas 
 
37.  According to L H Morgan the kinship terms are classificatory and --------. 
 A)  Clan based  B)  Primary C)   Descriptive D)    General  
 
38.  Appiko movement is associated with: 
 A)  Bonded labour   B)  Milk production  
 C)  Status of women   D)  Forest degradation 
 
39.  The Jharkhand movement was initiated by: 
 A)  Santhal  B)  Bodo   C)  Kadar   D)  Gond  
 
40.  Provision for just and humane conditions of work and maternity relief is included in 
 Article ----- of Indian constitution. 
 A) 42   B)  17   C)  46    D)  14  
 
41.  Assertion A : Member of urban society are held together by organic Solidarity 
 Reason R  : Individualism is the characteristic of urban social structure 
 
 A)  Both A and R are true and R is the correct explanation of A 
 B)  Both  A and R are true and R is not the correct explanation of A 
 C)  A  is true but R is false 
 D) A  is false but R is true  
 
42.  Kaka Kelelkar commission was appointed by Govt of India  to determine the criteria 
 for identification of: 
 A) Socially and economically backward communities  
 B) Socially and educationally backward classes  
 C) Population below poverty line 
 D)  Socially forward economically backward communities  
 
43.  Gandhian Satyagraha can be considered as an example of which one of the social  action 
 proposed by Weber? 
 A)  Value neutral action   B)  Affective action  
 C)  Value rational action   D)  Instrumental rational action 
 
44.   “Urbanism is a way of Life”. Who said this ? 
 A)  Homer Hoyt    B)  Louis Wirth  
 C)  Immanuel Castells    D)  Robert Park 
 
45.  The state in India which provide highest wage for MGNREGA workers: 
 A)  Punjab  B)  Haryana  C)  Goa   D)  Bihar 
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46.  Find the incorrect match: 
 A)  Circulation of elites   - Pareto  
 B)  White Collar    - CW Mills  
 C)  The Anatomy of Work  - George Friedmann 
 D)  The power Elite   - Pareto 
 
47.  “Man is by nature a social animal; an individual who is unsocial naturally and not 
 accidentally is either beneath our notice or more than human. Society is something 
 that precedes the individual.”  Who said this? 
 A)  Aristotle  B)  Plato  C)   Comte   D)   Spencer 
 
48.  Who among the following is associated with the theory of cultural lag? 
 A)  William Ogburn    B)   E B Tylor  
 C)   Malinowski    D)   Radcliff  Brown 
 
49.   Match list I with List II  
         List I          List II  
 a. Ideal Type     1.  Max Weber   
 b. Religion of Humanity   2.  C H Cooley  
 c.  Looking Glass self   3.  Auguste Comte  
 d   Social construction of Reality  4.  Peter Berger  
 
  A)  a-4, b-3, c-2, d-1  B) a-1, b-2, c-3, d-4 
 C) a-1, b-3, c-2, d-4  D) a-2, b-3, c-4, d-1 
 
50.  Author of the book “On Social structure and Science”? 
 A)  Talcott Parsons     B)   Robert K Merton  
 C)   Radcliff Brown  D)   Anthony Giddens 
 
51.  Who among the following is not associated with conflict theory?  
 A)  Ralph Dehrendorf   B)   Lewis Coser  
 C)   C W Mills    D)   Anthony Giddens 
 
52.  “Hegemony is the “cultural, moral and ideological” leadership of a group over allied 
 and subaltern groups.”  Who said this? 
 A)  Jurgen Habermas   B)   Lewis Althussur  
 C)   Antonio Gramsci  D)   Anthony Giddens 
 
53.  Who among the following is associated with the  scholarly journal devoted to 
 sociology, L’année sociologique? 
 A)  Jurgen Habermas   B)   Karl Marx  
 C)   Emile Durkheim  D)   Anthony Giddens 
 
54.  Who among the following is associated with capability approach? 
 A)   Amartya Sen  B)  M K Gandhi  C)   Samir Amin  D)  Rostwo 
 
55.  Total No of life births in a year / Mid year population x 1000 is: 
 A)   Nuptial Birth Rate    B)  General Fertility Rate  
 C)   Age specific Fertility Rate  D)  Crude Birth Rate 
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56.  ------ is celebrated as world Population Day. 
 A)   January 1  B)  March 10  C)   July 11  D)  December 10 
 
57. A manager seeking to raise productivity would indulge in ------ action 
 A)   Emotional  B)  Rational  C)   Corporate  D)  Traditional 
 
58.  People’s Plan Campaign (PPC) was launched in Kerala in: 
 A)   1986  B)  1996  C)   2006  D)  1976 
 
59.  -------  is a macro sociological perspective that seeks to explain the dynamics of  
 the “capitalist world economy” as a “total social system”.  
 A)   World system theory  B)  Functionalism    
 C)  Critical theory   D)  Interpretativism   
 
60.  Author of the book “Small is beautiful” ? 
 A)   E F Schumacher   B)  Samir Amin  
 C)  Arjun Appadurai   D)  Anthony Giddens 
 
61.  The state / UT of India where the Jarawas tribes are found: 
 A)   Arunachal Pradesh   B)  Andaman & Nicobar  
 C)  Chattisgarh    D)  Dadra and Nagar Haveli  
 
62. In industrial and post industrial society, the achieved status is possible because of : 
 A)   Role Conflict   B)  Acculturation    
 C)  Assimilation    D)  Social Mobility 
 
63.  Which one of the following is the process by which cultural traits spread from one 
 culturally distinct group to another? 
 A)   Accommodation   B)  Acculturation   
 C)  Assimilation    D)  Diffusion 
 
64.  The institute which supports investments and foreign trade in India: 
 A)  International Monetary Fund (IMF)  
 B)  World Trade Organisation (WTO) 
 C)  World Bank     
 D) International Labour Organisation (ILO) 
 
65.  The theory of development which suggests that societies move from traditional to 
 modern industrial forms of organization is called  
 A)   Westernisation Theory  B)  Modernization Theory  
 C)  Industrialization theory  D)  Dependency Theory 
 
66. The square root of the average of the squares of the deviations of the observation from 
 mean is called: 
 A)  Quartile deviation   B) Standard deviation    
 C)  Range     D)  Mean  
 
67.  If the data is collected from the whole universe then it is called: 
 A)  Census     B)  Sample     C)  Case study   D)  Ethnography  
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68.  The concept of Cultural capital was proposed by -------. 
 A)  George Simmel   B)  Pierre Bourdieu   
 C) Mark Granovetter  D)  Karl Marx  
 
69.  “Social stratification is the functional necessity of society” Who said this?  
 A)  Y Singh       B) K Davis   C)  H Spencer   D)  Karl Marx  
 
70.  For a symmetrical distribution, Q1 and Q3 are 20 and 40 respectively. The value of the 

5th decile will be: 
 A)  28        B) 40     
 C)  30    D) 10  
 
71.  The ----- is often the preferred measure of central tendency if the data are severely skewed.  
 A)  Mean     B) Median    C)  Mode   D)  Harmonic Mean  
 
72.  Human Development Index is a composite of: 
 A)   Income, trade and investment indicators  
 B)  Poverty, human rights and unemployment indicators 
 C)  Income, health and education indicators 
 D)  Health, Education and Quality of life indicators 
 
73.   The Committees set up in India for identification of BPL families in urban areas: 
 A)  Tendulkar Committee   B)  Saxena Committee 
  C)  Lakdawala Committee  D)  Hashim Committee 
 
74.  Assertion A : Poverty is essentially a social phenomenon and only secondarily a  
   material or physical phenomenon.  
 Reason R  :  Poverty is the socio economic phenomenon whereby the resources  
   available to a society are used to satisfy the wants of the few while  
   many do not have even their basic needs met.  
 

  A)   (A) is false, but (R) is true B)  Both (A) and (R) are true 
 C)   Both (A) and (R) are false D)  (A) is true, but (R) is false. 
 
75.   'ASHA' denotes : 
  A) Association of Social Health Activists 
 B)   Association of Scientific Health Activists   
 C)   Accredited Social Health Association 
 D)  Accredited Social Health Activists  
 
76.  For Emile Durkheim Modernity means 
 A)  Organic solidarity and weakening of collective consciousness  
 B)  Mechanical Solidarity and division of labour  
 C)  Rationality and sacred  
 D)  Mechanical solidarity and collective consciousness 
 
77.  Giddens defines modernity in terms of four basic institutions. Select the wrong one 
 from the following: 
 A)  Capitalism    B)   Industrialism  
 C)  Division of Labour   D)  Surveillance Capacities 
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78.  Choose the correct sequence of Parsons’ schema of social action and social system: 
 A)  Social system, cultural system, personality system and Biological organism 
 B)  Personality system, cultural system, Social system and Biological system  
 C)  Biological organism, Personality system, Social system and Cultural system 
 D)  Cultural system, Biological system, Personality system and Social system 
 
79.  Who among the following is associated with structural Marxism? 
 A) Ralph Dehrendorf   B)   Lewis Coser  
 C)   C W Mills    D)  Louis Althusser 
 
80.  ------ is not a social exchange theorist. 
 A)  George Homas   B)   Peter Blau  
 C)   C W Mills    D)   Levi Strauss 
 
81.  Which one of the following theory adopts the model of organism to understand 
 society? 
 A) Ethonomethodology   B)   Functionalism  
 C)   Social exchange theory D)   Conflict perspective  
 
82.  According to Merton Individuals or groups who reject both the institutionalized  means 
 and the cultural goals is called: 
 A)  Conformist  B)   Ritualist  C)   Innovators  D)   Retreatist 
 
83.   If  a kin is not referred directly but is referred to through another kin then the kinship 
 usage is called: 
 A)  Joking relationship   B)   Amitate  
 C)   Avunculate    D)   Teknonymy  
 
84.  When a girl of the higher caste marries a boy of the lower caste, the system is known as: 
 A)  Levirate B)  Anuloma  C)  Sororate D)  Pratiloma 
 
85.  According to Bourdieu -------refers to the learned, fundamental, deep-founded, 
 unconscious beliefs, and values, taken as self-evident universals, that inform an  agent's 
 actions and thoughts within a particular field. 
 A)  Habitus  B)  Filed   C)  Doxa   D)  Back stage 
 
86.  Which of the following is not included in McDonald's that contribute to the process of 
 McDonaldization? 
 A)  Efficiency    B)  Calculability  
 C) Predictability    D)  Accountability 
 
87. ------ approach begins with specific data out of which more general ideas or theories 
 are generated. 
 A)  Inductive   B)   Deductive  
 C)   Holistic   D) Reflexive 
  
88.  The whole sample picked up by the investigator in the way he likes is: 
 A) Quota sampling  B) Repetitive sampling  
 C) Convenient  sampling  D) Multi stage sampling   
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89.  The village which Andre Beteille did his village study: 
 A) Sripuram  B) Coorg   C) Shamirpet  D) Rampura 
 
90.   In which of the following types of research, hypothesis is a prerequisite? 
 A)  Biographical study  B)  Experimental study 
 C)  Interpretative research  D)  Critical research 
 
91.   Match list I with List II  
  List I      List II  
 a.  Central tendency    1.   z test  
 b.  Dispersion     2.   Mode  
 c.  Small sample test    3.   Range  
 d   Large sample test    4.   t test  
 

 A)  a-4, b-3, c-2, d-1  B) a-1, b-2, c-3, d-4 
 C) a-2, b-3, c-1, d-4  D) a-2, b-3, c-4, d-1 
 
92.  Find the mode of the following series: 
 5,7 ,9,5,12,3,9,7,4,9 ,12, 5, 9  
 

 A) 5   B)  9  C)  7  D)  44 
 
93.  A ----- scale is a quantitative scale where there is a true zero and equal intervals 
 between neighbouring points. 
 A)  Ratio    B)  Interval    C)   Ordinal     D)  Nominal   
 
94.  Which of the following is data analysis software?  
 A)   MS power Point    B)  Coral Draw    
 C)  SPSS    D)   MS Access   
 
95 ----------refers to an approach to Sociology which seeks to transcend the academy in 
 order to engage with wider audiences. 
 A)  Sociological Imagination  B)  Public Sociology  
 C)  Applied Sociology   D)  Social Planning 
 
96.  Which of the following is not a pattern variable according to Parsons? 
 A)  Affectivity  – Affective Neutrality  
 B)  Collectivity  – Self  
 C)  Ascription –  Achievement 
 D)  Simple  –  Complex 
 
97.  The term double hermeneutics was coined by: 
 A)  Anthony Giddens   B)  Lewis Coser  
 C)  Emile Durkheim   D)  CW Mills 
 
98. ------- is  the methods individuals use in daily life to construct their reality, primarily 
 through intimate exchanges of meanings in conversation. 
 A)  Symbolic interactionism B)  Ethnomethodology 
 C)  Functionalism   D)  Phenomenology 
 



11 
 

 
99  Empirically verifiable observation is called: 
 A) Concept B)  Theory  C) Hypothesis   D)  Fact   
 
100.  “Caste is a Brahminic child of Indo-Aryan culture cradled in the land of the Ganges 
 and thence transferred to other parts of India.” Who said this ? 
 A) S C Dube  B)  M N Srinivas    C)  G S Ghurye  D)  A R Desai  
 
101. In Jajmani system the person who gives service is called:  
 A) Jajman  B)  Noukar   C)  Kameen  D)  Priest  
 
102.  Which of the following is not the characteristic of Dominant caste? 
 A)  Numerical strength     
 B)  High rank in caste hierarchy  
 C)  Economic and political power   
 D)  Western Education  
 
103.  Author of the book “ Indian Village” ( 1955): 
 A) G S Ghurye B)  M N Srinivas   C)  S C Dube D)  A R Desai  
 
104. Which of the following is a book written by A R Desai ? 
 A)  India”s Villages  
 B)  Modernization of Indian Tradition  
 C)  Social Background of Indian Nationalism 
 D)  Caste Class and Power 
 
105.  Who introduced the concept  of “Relative Deprivation”? 
 A)  Ogburn  B)  E B Tylor  C)  S Stouffer  D)  T Parsons 
 
106.  -------- is not included in the list of communities founded by Robert Redfiled while 
 studying rural urban continuum. 
 A)  Marida   B)  Diztas   C)  Taski  D)  Pogo 
 
107.  A functionally specialised segment of a large urban complex located outside the 
 boundaries of central city: 
 A)  Polis     B)  Suburb   
 C)  Slum     D)  Primate City 
 
108.  Which among the following is not a pressure group? 
 A)  Peasant groups  B)  Business groups  
 C)  Trade Unions   D)  Political parties 
 
109.  Who wrote the book “Caste and politics in India”? 
 A)  Andre Beteille   B)  Rajni Kothari  
 C)  A R Desai    D)  K R Narayanan 
 
110.  The method which is not used by qualitative researchers generally: 
 A)  Oral history    B)   Focus group discussion  
 C)   Ethnography    D)  Mailed questionnaire  
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111. Which perspective emphasizes not to view peasant or tribal insurgents merely as 
 ‘object’ of history but to treat them as makers of their own history – endowed with a 
 transformative consciousness of their own? 
 A)  Indology    B)  Structural functionalism  
 C)  Subaltern    D)  Marxian 
 
112.  The provision of constitution of India which enables the state to make no discrimination  on 
 grounds of religion, caste race or place of birth: 
 A) Article 15   B)  Article 17  C)  Article 46   D)  Article 14  
 
113.  Number of Scheduled Tribes in Kerala according to 2011 census:  
 A) 72    B)  23  C)   46    D)  35  
 
114.  “Backward Caste Movements were transformative in nature” who said this? 
 A) S C Dube  B)  M S A Rao  C)  G S Ghurye  D)  A R Desai  
  
115.  Pick out the incorrect match 
 A)  G H Mead   - I and Me  
 B)  S Freud   - Ego and Super Ego  
 C)  C H Cooley   - Looking Glass Self 
 D)  Robert Park   - Xenocentrism  
 
116.  To Marx , the bourgeoisie get more than its due share primarily because of 
 A)  Monopoly over industry      
 B)  Accumulation of profit by legitimate means 
 C)  Control over the proletariat 
 D)  Absolute control over the means of production   
 
117.  If the total clan of a tribe is merged in to two phrataries then each phratry is called: 
 A) Sib    B)  Lineage  C)  Moiety  D)  Kula  
 
118.  The Indian state which do not have Scheduled Tribe population according to 2011 
 census:? 
 A) Goa       B)  Nagaland    
 C)  Punjab    D)  Himachal Pradesh  
 
119.  The process of emulating the values norms and behaviour pattern of  group other than 
 one belongs before becoming its member: 
 A) Intensive socialization  B)  Anticipatory socialization  
 C)  Re socialization   D)  Secondary socialization 
 
120.  Which of the following are the characteristics of caste system?  
 1.  Segmental division of society 
 2.  Unrestricted division of occupations 
 3.  Civil and religious disabilities and privileges 
 
 A)  1, 2 and  3  B)  1 and 2 only C)  2 and 3 only D)  1 and 3 only 
 

________________________ 


